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Quantitative Aptitude Sunday Mega Quiz for SSC CGL

Q1. Angles of elevation of top of a tower having base O, from three collinear points A, B and C, on a line
leading to the foot of the tower, are 30°, 45° & 60° respectively. Then ratio AB : BCis

(a) V3:v2

(b) V3:1

(c)1:V3

(d2:3

— xy= _ _ -
Q2. lfx+y+ z-D,theanw](yH][“x] equal [x#-y,y# -Z,Z# —X|
(a)-1
(b) 1

() xy +yz + zx
(d) None of these

Q3. Given below are respectively base and hypotenuse of four right angle triangles :

1 and /5,2 and v/13,3 and 5,4 and /41 64, 62, 05, O, ; are respectively angle included between them.

What are the increasing order of these values.

1. sin 01 2.tan 02
3. cos 03, 4, sec s

Choose the code among follow:
(a)4-1-2-3
(b) 1-4-3-2
(c) 3-1-2-4
(d) 3-1-4-2

12 Months Subscription

Q4. Consider the following statements about the expression

S$in30 + 2sin26 + 3sinb
1. For any 6 € R, maximum value of this expression is 6.

2. For any 8 € R, value of this expression cannot be zero.
Among above statement which is/are true? KA M A H A PAC K
(a)only 1 Live Class, Video Course,
(b) only 2 Test Series, e-Books
(c) Both 1 and 2
(d) Neither 1 nor 2 Bilingual (with e-Books)
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Q5. The reduced form of cos® x + sin®x + 3 cos® xsin” x is equal to
(@ 2

(b) 0

(©) sin®x + cos® x?

(d1

Q6.Ifa secO® + btan @ = 1 & a’ sec? 0 — b? tan? B = 5.then a’b? + 4a? isequal to
(a) 9b>

9
OF
(c) 2

b

()9

Q7. The horizontal distance between two towers is 60 m. The angular elevation of the top of the taller
tower as seen from the top of the shorter one is 30°. If the height of the taller tower is 150 m, the height of
the shorter one, approximately, is

(a) 116 m

(b) 216 m

(c) 200 m

(d) None of these

Q8. If 4sin’0 - 3 = 0 and 0 is acute, then what is the value of (cot’0 + tan’0)?
(a)2

(b) 0

(c) 10/3

(d)6

cosd cos8

Qo. , —— =4 and 0 is acute, then what is the value (in degrees) of 6 ?
1+sin@ 1—sin8

(a) 30
(b) 45
(c) 60
(d) 9o

Q10.

1 1
—— = —, then what is the
sinB+cosecH 2

value of sin!? B + cosecl?® @7
@-1
(b) 0

(o1
(d)2
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Q11. What is the value of _==cb 4

tanf+cotd
(@) cosH
(b) tan 6
(c)sin®
(d) cot®

Q12. What is the value of sin 80 + sin 607
(@) 2sin 76 cos 76

(b) 2 sin 76 cos 6

(c) 2sin B cos 76

(d) 2 sin 46 cos 30

Q13. Whatis the value of fory 4 _fan® o

1-tanx 1-cotx

(@) sinxcosx+ 1
(b) secx cosecx+ 1
(c)tanxcotx+ 1
(d) sec’x cosec’x + 1

Q14. Find the value of =224~1

cotd+tand

(a) sin” A

(b) cos Asin A
(c) cos’ A

(d) sec A cosec A

Q15.
If 55in x = 4,

4+ -
. tanr—cotx [ade T- b= ) e
then the numerical value Df( :]( }?

secx—tany Zeoslx—1
(@) 3/5
(b) 5/4
(©)7/4
(d) 9 /5 Live Class

Q6. SSC CGL 2019
What is the value of MUST EXPEBTED uUESTIUN

-
P R s
:’“‘:is = jz +2tan20° tan45° tan70° ? REVISION BATCH y
@1
(b) 2
(©3 i
(d) 4 9:30 AMto 2 PM | Bilingual
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Q17.

If cosec B + cosec?8 = 1, then what is the value of

(cot!?28 -3 cot!®8 + 3 cot® 6 - cott 8)7

(@) -2
(b) -1
(0
(d)1

Q18.Ifasin 8 + b Cos 8 = m, find the value of 1/6*[a Cos8-bSin 8 ]=7?

a® +b?

m2

OFFN =

(0 2.2

& m

@ 42 FTHT e
-

@ +=

Q19.

If tane = n tanf and sina = m sinf3,

I_
then [Z—]*/2 =

(a) cos™® a
(b) sinqcn:
(c) sin"«
(d) cosa

Q20.

IfsecA=a+ (4—;)
then secA + tanA =
(a) 2a Ol'i

(b) am‘i

(c) 2a Dl‘i—

(d) aor—

sind

Q21. The value i:nf(1

—cosd

(a) 2sec A
(b) %cos A
(o) %sin A
(d) 2cosec A

l-co=sd4l ,
s

zind

4 |

www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com



- z
Q22. If % = %. then cosecB is equal to:
coa
ab
@254

al

1 b
(b) T
1 fa®+B®
(© E( AB )

@ > (55)

secB{l—sin 8){zin8+cosf){zecl+tand) ,
Q23 The value of [gin(l+tan®}+cosB(1l+cotd)]sinBcosl 15 Equal to
(@1

(b) 0

(02
(d) -1

Q24. (secB — tanB)?(sinB + 1)* + cos*B8 =7
(a) 2
(b) 1

(00
(d-1

Q25.
If 3(tan®8 — sin®@) = sin®8,0° < 8 < 907,

then the value of (tan* 8 + sec?8 + cot®8) is :

(a) 40/9
(b) 35/9
(c) 61/9

(d) None of these 12 Months Subscription
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